A B o OE OB AN A & B R
7w 64 55 1 AZEFE

BT 4 1 5 X &5t B 4 1 5 X &5t B 4 HHEH 5 E- &5t
= ET 1,821 1,756 1,686 3, 442 A BEHd 259 326 319 645 H A 251 294 291 585
OV NE1TH 300 332 350 682 G k=N 422 465 542 1,007 H OHE T 715 706 787 1,493
UMY E2TH 247 280 288 568 At FH T 244 229 229 458 /INBSRET 23 23 25 48
O N E3TH 109 140 136 276 /N BHOHT 1,814 2,017 2,223 4, 240 /N R OET 1,400 1,459 1,590 3,049

AR B 328 324 386 710 WOEL HT 27 24 34 58
A Edb /N BREXEt 2,477 2,508 2, 460 4,968 HEER1 T H 378 556 580 1,136 K fHOHT 40 45 46 01

THHER2 T H 236 342 366 708 [z 23 23 32 55
& JH HT 316 382 402 784 HEER 3T H 209 358 347 705 R T 507 603 611 1,214
B E®E1TH 197 211 239 450 wE B 848 900 990 1,890 e 2 T 28 32 40 72
B BE®2TH 277 278 330 608 P M JFET 903 979 1,001 1,980
BB HB®W 3T H 165 184 210 394 £ ENF /N BEXET 3,014 3,209 3, 456 6, 665
/&% 1TH 311 347 404 751 HEEINER REXET 5, 641 6, 496 6,983 13,479
B B2 T H 231 230 289 519 & 4y W 3,106 3, 531 3,816 7,347
&7 3T 8 384 404 462 866 EHEAT1TH 265 272 303 575 IHoXH1TH 518 534 664 1,198
B EM1TH 260 330 355 685 EHENATL2TH 196 218 244 462 XHoxH27TH 462 532 600 1,132
B Em2 T H 410 392 477 869 =HENAL3TH 279 333 355 688 2yh 223 419 441 860
B edb1 TH 360 345 M3 758 B oe 229 222 251 473 FFIESS 206 359 346 705
B Hdb2 TH 174 181 195 376 £ o mr 3,103 3, 300 3,675 6,975
B &dt3TH 313 312 365 677 A A7 957 936 1,083 2,019 SN INER BEXET 4,515 5,375 5, 867 11,242
EEOHR 351 618 627 1,245 W7 723 653 737 1,390

Z. W T 0 0 0 0
B/ B8INER BEXE 3,749 4,214 4,768 8,982 RONERL BXEt 5,752 5,934 6,648 12,582 /NS T 1,073 1,098 1,225 2,323
# o B 351 373 450 823

s iy 508 553 633 1,186 B R 337 369 420 789 HOE1TH 402 362 444 806
o 238 425 424 849 AN i1 756 756 812 1,568 HOE2TH 124 133 142 275
JbxFfn1 TH 326 376 401 777 s gy 2,795 2,877 3,144 6,021 HDE3ITH 360 346 401 747
Jbxfn2 TH 487 571 619 1,190 OB A4TH 218 224 258 482
kX3 TH 145 166 174 340 7 BN ®REXEt 3,888 4,002 4,376 8,378 WDOESTH 164 171 198 369
Jbxfn4 TH 239 290 297 587 Ol T 219 219 263 482
b xfn5 TH 173 236 249 485 R AT 291 318 357 675
=51 TH 340 365 392 757 b & my 999 961 1,130 2,091 RS /IR KEXET 2,911 2,926 3, 381 6, 307
=52 TH 308 311 365 676 B 363 354 431 785
H53TH 269 282 326 608 ffr 2 HT 320 282 299 581
H=54TH 303 316 369 685 2]y | 667 648 705 1,353 (F¥5  fE=EHA)
H5E1TH 347 369 425 794 AR 698 783 856 1,639 (O NN & 656 752 774 1, 526
"2 TH 197 218 238 456 o AT 314 271 261 532 BB = 3, 082 3,214 3, 739 6, 953

VN T 345 277 298 575 bt K #n & 1,370 1,639 1, 740 3, 379
BER/hER BKEET 3,880 4,478 4,912 9, 390 gt 1 TH 205 164 227 391 I=A = N 1,220 1,274 1, 452 2,726

JtHT 2 T H 353 337 361 698 H 5 M = 544 587 663 1, 250
STk 1 TH 432 477 540 1,017 F9 gl WY 438 335 372 707 0B 2 1, 982 2,115 2,381 4, 496
HI AL 2 T H 386 434 471 905 (g Wy 1,118 1,125 1,332 2, 457 H k& & g 2,043 2,701 2, 880 5, 581
HIT k3 T H 225 236 276 512 L1 I T 639 504 646 1,150 £ BB g 681 791 861 1, 652
HINER 1 T H 209 223 217 440 HEER 3 823 1, 256 1,293 2,549
HI e 2 T H 414 407 479 886 HE/ N KEXE 6,750 6, 359 7.275 13,634 =HEN & 740 823 902 1,725
HINER 3 T H 316 338 398 736 WA E = 1,976 2,005 2, 384 4, 389
HThE 17 122 138 260 h3 1 T H 249 224 252 476 EoxhH 3 980 1, 066 1, 264 2,330
HEH1TH 302 357 390 747 R 2 T H 491 436 514 950 KOBETH & 1, 268 1, 236 1, 443 2,679
HEH2TH 223 234 262 496 E i 44 37 46 83
HES 3 TH 298 375 407 782 (e il 261 245 261 506
HiZH4 TH 562 815 830 1,645 HAR 1 T H 1,112 1,106 1,307 2,413
HEES 5 T H 494 696 754 1,450 HAE 2 TH 236 222 290 512 HEH 2] B8 &5
HEH6 TH 164 224 237 461 HAE 3 T H 355 391 447 838

w4 T H 273 286 340 626 EREABEAD 51, 820 55, 528 61,370 | 116, 898
HIMEF/INER  KEE 4,142 4,938 5,399 10, 337 FRAER H R 472 434 509 943

WM TH 520 528 609 1,137

HEM2 TH 523 552 545 1,097

4y B 565 628 725 1,353

A BRIV ®RXET 5, 101 5,089 5,845 10,934
1k : BB (G R



